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St. Joseph’s High School
Mandi Dabwali
Revision Worksheet -1

Class — VIII Subject — Hindi

g 1. Reafaf@a geal & 39¢ T gy 7 fau-

. R & gferar & Fwgee @ ) garr?

I. alAr Feferdl I sfar J &1 3R UT?

n. fra RE A R & aRe ears?

V. AT H g U 9T giar 872

V. UIQHgUHJMdﬁW@FTQFWQFQﬁTW%?
Vi, ¥ fa%e HO §4 T A?

VI HT HF o€ IA-39 FIT AT doldm AT?

Vill. e T T SEETAAT AT TG FET ST §7

X.  SEEOY fRE &9 A e fe@mg & S aRd A7
X. SEEOAT I AT FIT-FAT < A?

XI. ARATT 9Rd & forg T & 87

XIl.  AH e T GRATT § AT HY AUT?

Xlll.  d&d -d38 & AT & 39 F7 AlId 87

Xlv.  QgeTel @ 3Reeie AR SEEaRT ¥ Fa1 Jey oa7?
XV.  SEERT o fhas I BT gde fhar?

XVl. Sdll & i [Ra Tite aiftw fAen?

XVIl.  GTeT HIge Wleleh 39T FTSAT HIS & fohdl AT H of T?

XVIll. Yol & TaTel ol ST o Sl Bleleh 306 Hal of IT?

XIX. S8laT & FHell HaT T Plclh o FAT-FT Jr@T?
XX.  HRd # el qgell H{eh ThoH &I ATH FAT UT?

weeT 2. TAE/AE & gHEARR e W Hicae a9 v

Do given worksheet in rough notebook.
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1.

10.

11,

12;

Numericaﬂ problems.

A force of 80 N (_jisplaces an object through
5 m in the direction of force. Calcylate the

work done.

A man of 600 N weight climbs up a hill of
height 400 m. What is the work done by
him?

Rita weighing 36 kg climbs up a ladder of
15 m height. What is the work done by her

against the force of gravity? Given that
g = 10 m/s2.

A box is being pushed by applying a force
of 200 N. If work done on the box is

3000 J, what is the displacement of the box
in the direction of force?

Ayushi is riding her bicycle with a constant

speed of 6 m/s. If she weighs 30 kg, find
her kinetic energy.

An athlete weighing 50 kg is running at a

constant rate of 10 m/s. What is his kinetic
energy?

Calculate the change in kinetic energy of
a toy car of mass 2 kg when its speed is
raised from 8 m/s to 16 m/s.

A bullet of mass 20 g comes out from tfhe
barrel of a gun with a muzzle velocity oh
400 m/s. What is the kinetic energy of the
bullet?

A box of mass 20 kg is situated at a h‘iigitl;t
of 40 m from the ground level. What'

: ?

gravitational potential energy:
2

(Take g = 10 m/s?) 28 kg Com

' ' ass
A coolie raises a box of 'tna o it of
the ground and puts I;t ?\tial il
L5 m. What is the PO w? Given that the
possessed by the b02x NOW!
value of g is 10 m/s" )
Ca|CU|ate the Change "n P ) "'_'(?(i f{()l-ﬂ a
when a bag of mass °% Ko
point A situated at 3;‘0 '”l ral
point B situated at 1""0/”‘,) ‘

y - n/5
ground. (Take g = (J;)k:)‘ is allowed tO fall
A stone of mas® et 28 cliff of h(";"['rlnp
freely from the :nergy v na?
is > Qu

Rt I V\:h(ﬂ ilt‘)jw;t real I}m the gro
stone when ‘

(Given that g =



Std -8 Chemistry Worksheet
Revise ch- 6 Hydrogen from notebook + Book Exercise

Also read chapter from book and find one word answers. ( Atleast 25)
and write in sci fair note book as well as learn.



MULTIPLE CHOICE QUESTIONS:

1. The property of matter due to which there is increase in its size on heating is called:
a. Thermal energy
b. Thermal equilibrium
c¢. Thermal expansion
d. Thermal effect
2. In which state of matter is thermal expansion maximum:

a. Solid
b. Liquid
c. Gas

d. Equalin all three states
3. A straight by metallic strip of brass and iron is taken at room temperature. On heating,
a. The strip bends with iron on the outer surface of bend.
b. The strip bends with brass on the outer surface of bend.
c. The strip expands but remains straight.
d. The strip contracts and remain straight.
4. The increase in length of a metal rod depends on
a. Original length of rod.
b. Increase in temperature.
c. The material of metal rod
d. All the three factors mentioned above
5. If the angle of incidence is 30° then the angle of reflection will be:

a. 15°

b. 30°

c. 45°

d. 60°

6. Then white light passes through a prism which colour is deviated the least?

a. Violet

b. Green

¢. Orange

d. Red

7. For an image to be formed at the centre of curvature of a concave mirror the object should be
placed in front of the mirror at the:

a. Infinity
b. Focus
c. Pole

d. Centre of curvature
8. Focal length (f) of a spherical mirror is related to its radius of curvature (R) as

a. f=R/2
b. f=R

c. f=2R
d. f=1/R

9. A spherical mirror whose inner surface is the reflecting surface is a:
a. Concave mirror



b. Convex mirror
c. Parabolic mirror
d. Plane mirror
10. Kinetic energy of a moving object is 100 joule. if its speed is doubled then its kinetic energy
will become
a. 200)J
b. 400)
c. 50J
d. 25)
11. The relation between power (P) and energy (E) is given as
a. E=PXT
b. P=EXT
c. E=P/T
d. None
12. Capacity to do work is called:
a. Power
b. Thrust
c. Pressure
d. Energy.

NOTE: SOLVE THESE MCQ BASED QUESTIONS IN YOUR FAIR NOTEBOOK:



Answer the following questions:-
1. Define the following-
a) Planters b) Axis powers

2. Differentiate between long term  migration and short term migration.
3.Explain two achievements of the UN.

4. Mention two demands of the Moderates.

5. What are the two economic causes of the Revolt of 1857 ?

6. Define Migration.



Speech

Rule:If the reporting verb is in the Past Tense, the tense of the verbs in the Reported Speech is also

changed into its corresponding past tense.

Is/fam/are+vl+ing

Simple Present Simple Past
V1+s/es V2
Present Conti. Past cont.

Was/were +v1+ing

Present perfect
Has/have +v3

Past Perfect
Had +v3

Present Perf. cont.
has / have + been +V;+ing

Past Perfect cont.
Had +been +v1+ing

Past Indefinite
V2

Past perfect
Had +V3

Past Continuous
Was/were +v1 +ing

Past perfect continuous

Had +been+V1+ing

Had +been +v1+ing

Past perfect No change
Had +V3
Past perfect continuous No change

Quel. Change into Indirect speech.

1. Arun says, "There is no ink in the inkpot."

2. The teacher says, "The girl was lazy."

3. The principal says, "Sneha will fail."”

4. Mukesh will say, "Dinner is ready."

5. Binay will say, "No body was in the room."

6. Mr. Pandey will say, "Suresh will not pass.”

7. Veena said, "Anupam works very hard."




8. Ajit said, "Rekha swims daily."

9. She said, "Aman is working hard."

10. They said, "The girls are playing cricket.”
11. Ram said, "Sita has done her work."

12. He said, "Binod has written the letter.

13. She said, "The boy may pass."

14. 1 said, "I can do the sum."

15. Ajay said, "Raman returned at night.”



